SH6ERE FHTEFER—ER (10~ 1258 )  F#Ihei
10 B 11 A 12 B
NI FBEGA(FRED)

s I E 1|8

2 |k 2 || 2 | B E%ﬁgﬁ@
o |%| 25 IEEHRATRRBAR o [a || EHEEHQ
s ;:g%igﬁa 7l EERA (1175 ZEOH) + |x E%EE&@

2
s ' 5 | %| % B KB BEIE ()| 5 [* =EmBRD
RNE= (FE%13:30 XZ—F14:00)
6 | B . 6 | K 6 | & o oy 1=
N LT TP

7 |B 7 | % 1 |+

8 [k 8 |& 8 |8

9 |k 9| L 9 | A

0 || BT ERHERS (K2 | o [a] 0 | %

TR E 1|8 1|k 14 H’&i’%ﬁk%ﬁ@
12 [+ 12 | % 12 |k 14 BimAER2
13 | H 13 | K 13 | &

— [ [R—voB@He)

14 | A 14 | R 14 |+

15 |u|eh3 EhHERE (EHER) 15 | & 15 | B

16 | k(3 FHEIFE (FLEO 6 |t BEEK=(\ELL) 16 | A

17 | %|PTABVITEFEO 7|8 |t hERESERTHRRME | 17 | X

e |2 A BT Z—L (om ) 118 | A REWE (11717 BRPXE BE X s I

19 |+ 19 | % 19 | &

20 | B 20 | K 20 | & PTA#;W?%‘I%@
21 | B 21 |k 2 | &

22 |k 2 | & PTAEITERLA0 2 |8

w x| k3 ghEE(@ES) | 0|z xWMRHFAD | = |

24 | & 2 || * iﬁ”Z%ﬁ-A@ 24 |k

%5 | & 25 | B 25 |k TEHIRER
2 | +| %k iﬂzgﬂ{ﬁj('% 2% |k 26 | &

2 [ o || EfERRE (BKE) | o |e

28 | B 28 | & 28 | £

29 | k[1-24F EHTXE 29 | & 20 | B

o [k[1-28F RATAF w x| *HMERFAQUANRT) |0 |58

P
31 | KR 31 | X




FHOEE FHTEFER—ER (1 ~3H) #sek
1 B 2 B 3 A
FTTECARH) T
1 | K i ez i, |[s=
2 | XK 2 || 2 |8
3 | #& s [A|BIABFR-5X-RBIEH %5 3 |8 =ESHEHA
s |+ o | k| * RIrE HESHY e —)| ¢ | x| BEIERAR(E-B-3H)
5 A8 IES s k| BT ESRAR (1120
6 |A 3=H] 1hEK o |&| REBEHR EERLBIRER| o | £
7 | % 7 |& k- Z= %1 9:30
TEDE
8 | K 8 |x .8 it
i
9 | K 9 |R 9 |8
0|2 EEZHH 10 | A 10| A
BERADR(ARE)
n || * B ER A (EHE-ZE) | 0 [ " |
1é =] 12 | K 12 | K
' RAGE (ARE)
13 l8 13 | & |34 5T AN (1SEEE 148280 3 | K
14 9{ 14 ﬁ 1 'zﬁ:‘ %iﬁgllﬁggjﬁﬁ(@ﬁﬁ) 14 ﬁ PTA#R,?—_J--EI'S%
PTASLEZEB) (24E 17:00)
3% BRER
15 |7k 15 [ £ 15 [+
16 | & 16 | 8 16 | B
REREQURER)
17 | % 17 | A 17 | 8
2= = BT RIE (R eEal)
18 | sk PREMEZEERQ | ¢ % BTk (SRFER)
19 | A 19 |k 19 |k
[ H530B8 (2KkB)
20 | A 20 | & 20 | &
21 | k| %25 REVSRAEE YT —(pm)| 21 [ 2 | &
22 | %k 2 |+ 2 |+
XSWER (AR
23 | K 2 | A 23 | B
o |2 PTA%R?:IEB%@ 24 |5 RE2KB(2/23 XERER) | 5
25 |+ 25 | % 25 | %
26 | B 26 | K 26 | 7k
27 | R 27 | K 27 | K
2 | % n | PTARESG n | & Bt 2R (GHRER)
o x| 2% BERED e
e
o | x| 24 (EFHRITQ s
ey —
o |2 2% (EFRITO o | 5




